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1. In which of the following types of economy are the factors
of production owned individually?

(a) Capitalist (b) Socialist

(c) Mixed (d) Both a and b

2. SEBI is a

(a) Constitutional body (b) advisory body

(c) statutory body (d) non-statutory body

3. Economic liberalisation in India started with

(a) substantial changes in industrial licensing policy

(b) the convertibility of Indian rupee

(c) doing away with procedural formalities for foreign
direct investment

(d) significant reduction in tax rates

4. New Economic Policy (1991) aims at

(a) giving importance to rural techniques of production

(b) reforms in production pattern, obtaining new
technology, making Indian economy more
competitive

(c) creating more tax brackets

(d) imposing Tobin tax

5. Deficit financing means the government borrows money
from the

(a) IMF (b) Ministry of Finance

(c) RBI (d) WTO

6. Subsidy implies

(a) payment made by companies to sharereholders

(b) payment by government for purchase of goods and
service

(c) payment made by government to business enterprises,
without buying and goods and services

(d) payment made by business enterprises to factor of
production

7. Which among the following is/are true?

1. Deficit financing does not lead to inflation if adopted
in small doses.

2. Deficit financing is an often used tool for financing
budgetary deficits.

Select the correct answer using the the Codes given below

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) None of these
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8. It refers to the use of taxation, public expenditure and the
management of public debt in order to achieve certain
specified objectives.

(a) Fiscal Policy (b) Trade Policy

(c) Revenue Policy (d) None of these

9. Consider the following

1. Market borrowing

2. Treasury bills

3. Special securities issued to RBI

Which of these is/are components (s) of internal debt?

(a) Only 1 (b) 1 and 2

(c) Only 2 (d) 1, 2 and 3

10. The existence of a parallel economy/black money

(a) makes the economy more competitive

(b) makes the monetary policies less effective

(c) ensures a better distribution of income and wealth

(d) ensures increasing productive investment

11. The Fiscal Policy of India is formulated by

(a) RBI (b) SEBI

(c) Finance Ministry (d) Planning Commission

12. Dear Money Policy implies

(a) high price level (b) large money supply

(c) high production (d) high interest rates

13. What is 'NIKKEI"?

(a) Share Price Index of Tokyo Share Market

(b) Name of Japanese Central Bank

(c) Japanese name of country's Planning Commission

(d) Foreign Exchange Market of Japan

14. The towering of bank rate by the RBI leads to

(a) more liquidity in the market

(b) less liquidity in the market

(c) no change in liquidity in the market

(d) mobilization of more deposits by commercial banks

15. A rapid increase in the rate of inflation is sometimes
attributed to the 'Base Effect'. What is 'Base Effect"?

(a) It is the impact of drastic deficiency in supply due to
failure of crops

(b) It is the impact of the surge in demand due to rapid
economic growth

(c) It is the impact of the price levels of previous year on
the calculation of inflation rate

(d) None of the above

16. When the Reserve Bank of India announces an increase of
the Cash Reserve Ratio, what does it mean?

(a) The Commercial banks will have less money to lend

(b) The Reserve Bank of India will have less money to
lend

(c) The Union Government will have less money to lend

(d) The commercial banks will have more money to lend
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(c) (d)
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17. If the RBI adopts an expansionist open market operations
policy, this means that is will

(a) buy securities from the market

(b) Sell securities in the open market

(c) offer commerical banks less credit in the open market

(d) openly announce to the market that it intends to reduce
credit

18. The basic regulatory authority for mutual funds and stock
markets lies with the

(a) Government of India

(b) Reserve Bank of India

(c) SEBI

(d) Stock Exchanges

19. If the cash reserve ratio is lowered by the RBI, its impact
on credit creation will be to

(a) increase it (b) decrease it

(c) no impact (d) None of these

20. The RBI keeps on modifying various rates/ratios to keep
the flow of liquidity in the market in a balanced situation.
Which of the following is not directly controlled by RBI?

(a) Cash Reserve Ratio (CRR)

(b) Bank Rate

(c) Repo Rate

(d) Wholesale Price Index (WPI)

21. The rate at which banks lend to RBI is known as

(a) bank rate (b) repo rate

(c) reverse repo rate (d) interest rate

22. The cause of deflation is

(a) lack of goods and services as compared to money
supply

(b) lack of imports as compared to exports

(c) iack of money supply as compared to supply of goods
and services

(d) None of the above

23. The working of SEBI includes

(a) to regulate the dealings of share market

(b) to check the foul dealings in share market

(c) to control the inside trading of shares

(d) All of the above

24. "Stagflation" is

(a) inflation after deflations

(b) deflation with growth

(c) inflation with recession

(d) inflation with growth

25. The instrument used by RBI for quantitative control are

1. CRR

2. SLR

3. Open Market Operation

4. Margin Requirements

(a) 1, 2 and 3 (b) 1, 3 and 4

(c) 1 and 2 (d) 2 and 4
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26. The methods of credit control used by RBI can be divided
into

(a) monetry and fiscal

(b) open and close

(c) rural and urban

(d) Quantitative and qualitative

27. Which of the following cannot be called a Debt instrument
as referred in financial transaction?

(a) Certificate of Deposits

(b) Bonds

(c) Stocks

(d) Commercial Papers

28. Which of the following pairs is not correctly matched?

1. Dow Jones New York

2. NIKKEI Tokyo

3. MIODAX Singapore

4. HANG SENG Hong Kong

Select the correct answer using the codes given below

(a) 1 and 3 (b) Only 3

(c) 2 and 3 (d) 1 and 3

29. IRDAI is associated with

(a) railways (b) insurance sectors

(c) telecommunication (d) banking

30. The gilt-edged market deals in

(a) worn and torn currency notes

(b) Bullion

(c) government securities

(d) corporate bonds

31. The banks are required to maintain a certain ratio between
their cash in hand and total assets. This is called:-

(a) CRR (Cash Reserve Ratio)

(b) SLR (Statutory Liquid Ratio)

(c) Repo rate

(d) SDR

32. Match list I with list II and select correct answer:-

List-I List-II

A. Boom 1. Gradual fall of income,
output and employment
with business activity in
a low gear.

B. Recovery 2. Steady rise in the prices,
income, output and
employment.

C. Depression 3. Business activity at high
level with increasing
income, output and
employment at macro
level.
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D. Recession 4. Unprecedented level of
under employment,
drastic fall in the output
and employment.

Codes

A B C D

(a) 3 2 4 1

(b) 1 2 3 4

(c) 2 1 4 1

(d) 1 4 3 2

33. In the context of Indian economy, consider the following
pairs:-

Term description Most appropriate

1. Melt down Fall in stock prices

2. Slow down Fall in growth rate

3. Recession Fall in GDP, negative growth

which of the pair is correctly matched?

(a) 1 only (b) 1, 2 & 3

(c) 1 and 2 (d) None of these

34. The Securities and Exchange Board of India (SEBI) is the
regulator for the securities market in India.

Consider the following statements in relation to this:

1. SEBI is a quasi-legislative, quasi-judicial and quasi-
executive body.

2. The appeal against SEBI decision can be made to
securities appellate tribunal.

3. The second appeal can be made to High Court.

Which of the given statements are cor- rect?

(a) Only 1 (b) Only 2

(c) 1 and 2 (d) None of these

35. Consider the following statements regarding 'bear' in
financial investment:

(a) Any lender whether by making a loan or buying a
bond.

(b) A shareholder on a bondholder who has an interest in
a company, financial or otherwise.

(c) An investor who feels that the price of a particular
security is going to fall.

(d) An investor who expects the price of particular shares
to rise.

36. Consider the following statements:

1. Core inflation is essentially demand driven.

2. Core inflation excludes items that face volatile price
movement.

Which of the following statements given above are correct?

(a) Only 1

(b) Only 2

(c) 1 & 2 (d) None of these

D. Recession

Codes

A B C D

(a) 3 2 4 1

(b) 1 2 3 4

(c) 2 1 4 1

(d) 1 4 3 2
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37. Which among the following are the 'Credit-Rating Agencies'
of India?

1. CRISIL 2. CARE

3. ICRA 4. ONICRA

Which of the above is the select correct statement?

(a) 1 and 2 (b) 2 and 3

(c) Only 1 (d) 1, 2, 3 and 4

38. Which of the following Price Indices of India is considered
for measuring 'Headline Inflation'?/

(a) WPI (b) GDP

(c) CPI Combined (d) None of these

39. Consider the following statements regarding 'Inside
Trading':

(1) It is related to international trade.

(2) It is considered illegal.

(3) Inside Trading is to provide the secret information of
any company so that the price of it's shares may be affected.

Select the correct statements from the codes given below.

(a) 1 and 2 (b) 2 and 3

(c) 1 and 3 (d) 1, 2 and 3

40. Consider the following statements with reference to 'Call
Money':

1. Money borrowed or lent for a day or overnight.

2. Money borrowed for more than one day but upto 3
days.

3. Money borrowed for more than one day but upto 7
days.

4. Money borrowed for more than one day but upto 14
days.

Which statements is/are correct?

(a) Only 1 (b) Only 2

(c) 1, 2, 3 & 4 (d) None of these

41. Which of the following is not a measure to control inflation
adopted by the government and or the RBI:

(a) Monetary policy (b) Fiscal policy

(c) Financial inclusion (d) Price control

42. Consider the following statements with regard to Fiscal
Policy:

1. Fiscal policy is the part of government policy which
is concerned with raising revenue through taxation.

2. It 's objective is to achieve desirable income
distribution.

3. RBI is responsible to draft fiscal policy.

Select the correct statements with the help of given codes.

(a) 1 only

(b) 2 only

(c) 1 and 2 only

(d) 1, 2 and 3

1. CRISIL 2. CARE

3. ICRA 4. ONICRA
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43. Consider the following statements with regard to Cash
Reserve Ratio (CRR):

1. Cash Reserve Ratio (CRR) is the portion of a bank's
deposits that a bank should keep with the RBI in cash
form.

2. The more the CRR, the less the money available for
lending by banks to players in the economy.

3. It is a tool to regulate money flow in the market.

Select the correct statements from the codes given below.

(a) I only (b) 1, 2 only

(c) 1, 2 & 3 (d) None of these

44. Which of the following are instruments of controlling
liquidity in economy:

1. Cash Reserve Ratio

2. Statutory Liquidity Ratio

3. Reverse Repo Rate

4. Open market operation

Select the correct answer with the help of given codes.

(a) 1 and 2 (b) 3 and 4

(c) 1, 2 and 3 (d) 1, 2, 3 and 4

45. Consider the following statements in regard to Repo Rate:

1. Repo Rate is the RBI's lending rate to other banks.

2. This also means that repo rate is the rate at which the
RBI lends money to banks.

Which of the above statements is/are correct?

(a) 1only (b) 2 only

(c) 1 & 2 both (d) None of the above

46. Consider the following statements with regard to Statutory
Liquidity Ratio (SLR)

1. To meet SLR, Commercial Banks can use cash only.

2. SLR is maintained by the banks with themselves.

3. SLR restricts the banks leverage in pumping more
money into the economy.

which of the statements given above is/are correct?

(a) 1, 2 and 3 (b) 1 and 3

(c) 2 and 3 (d) Only 2

47. Consider the following statements with regard to
Capitalism:

1. This system is based on 'Laissez-faire system' i.e., no
state intervention.

2. It is an economic system in which all means of
production are owned by private individuals.

3. It is a state guided and regulated economic order.

Select the correct statements with the help of the codes
given below.

(a) 1 & 2

(b) 2 & 3

(c) 1, 2 & 3

(d) None of the above

(a) (b)

(c) (d)

(a) (b)

(c) (d)
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(c) (d)
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48. Consider the following statements with regard to 'Blue Chip'
share:
1. They are the most reliable industrial shares on a stock

exchange.
2. It is a risky investment.
3. It is concerned with such equity shares whose

purchase is extremely safe.
Select the correct statements with the help of given codes.
(a) 1 only (b) 2 only
(c) 1 and 2 (d) 1 and 3

49. Consider the following statements in the context of 'Future
Trading':
1. It is nothing but a trade between any two stock

exchange wherein it is decided to purchase the stock
of each other on a fixed price throughout the

2. It is an agreement between two parties to buy or sell
an underlying asset in the future at a predetermined
price.

3. It is an agreement between stock exchanges that they
will not trade the stocks of each other under any
circumstances in future or for a given period of time.

(a) 1 only (b) 2 only
(c) 1, 2 and 3 (d) None of these

50. Consider the following statements.
1. Bombay stock Exchange is the oldest exchange of

India.
2. National Stock Exchange was established in 1992.
3. UTI SENSEX is related with BSE
Select the correct answer from the codes given below.
(a) 1 only (b) 2 only

(c) 1, 2 and 3 (d) None of the above

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)
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